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Al 108,000
301 LetENEZ 135,000 117,500 17,500
& 27,000
Al 108,000




A= sg)|=dH S =
T HEYFMZIHY L3
ol Sehatrd 54 (SH9 H2)
A 2A - ZB . S(3H) - HIRAY - BAES Ofl Ao Oﬁ]gﬁ HR=2
14 JIEt2 43 135,000 117,500 17,500
OIIEMAEE el XA
225,000,000 *60% 135,000
< 27,000
Al 108,000
SHMSOIME 160,000 156,480 3,520
J| 68,800
< 18,240
Al 72,960
307 212+01H 160,000 156,480 3,520
] 68,800
== 18,240
Al 72,960
02 QIRHA LA E X 160,000 156,480 3,520
OStMSOME (L) K&
320, 0002 x700E *70% 156,800
7l 67,200
= 17,920
Al 71,680
OStMSOME (B3Y) XA
320, 0002 * 10 x100% 3,200
J| 1,600
= 320
Al 1,280
SAMAIE HDetd HH K& 1,400 2,700 A1,300
= 420
Al 980
402 QI2EXHE20| S 1,400 2,700 A1,300
= 420
Al 980
03 QI2H2EFAL ] 1,400 2,700 A1,300
OSAAIE HD|etd BH
200, 0003 1070 2 *70% 1,400
== 420
Al 980
4o ME2X KA 3,840 0 3,840
= 768
Al 3,072
301 L2 EF 3,840 0 3,840
= 768
Al 3,072
14 JIEt2 43 3,840 0 3,840
O M2 =2 K&
8,000 x 123 x40H 3,840




a3 sYII=dd A et
M FESAF WS 25}
&Rl skt 54 (SH9 H2)
AR RA - F - O(BIH) - NRAY - BES 0l Ao A timE=FT
[ 768
Al 3,072
Y SHSEM sS4 KA 20,000 20,000
402 Q12+ X201 M 20,000 20,000
01 QI RH2AIE 2R (RAMITHE) 20,000 20,000
OF& AMIE 2= & &8l - I 7 Al
2 20,000,000 *2JH 2= %50% 20,000
SAE YA 2e| 2,573,744 2,140,660 433,084
2l 1,061,729
< 316,611
Al 1,195,404
IIEAEE HEES XA 124,500 124,500
201 L= 15,900 15,900
01 AFS2t2ltl 12,900 12,900
OJIsdgY E82% u=H|
3,000,000 *14] 3,000
OI=EEAIIXM 222
600,000 *63 3,600
ONELA=ES 3,000,000 %14 3,000
OJIsdgY MsSddl itz
660,000 #53] 3,300
02 S22l 3,000 3,000 0
OJI=2d dla=8 EE2Y 31 29
=] 250,000+ 122 3,000
206 Mz bl 57,400 57,400
01 M=z HI 57,400 57,400
OJISEIZA ML E
10,0002 350 3,500
Ost2, &4 5lEI| 58 L WlgASE
20,0003 420 8,400
OHX A2HEY HYAS
20,0002 %3204 6,400
OHX, & & A=
60,0003 » 150 9,000
OZg SMHF € &= M
15,000& *700= 10,500
O3dtEJl |di+= A
10,0002 660 6,600
O EXELM 2IgorZ(5te, A, X
&) 3,000,000 +2& 6,000
Ostdgd HgdS
20,0003 %200 4,000
OJisgdEs 29=
5,000 600 3,000
301 LEIEEZ 51,200 51,200
11 SAIAHIXIRS 1,200 1,200




I =HIEH 2 0 =AM
IRNBHY L5
AHE oHER S 2te| EER=E)
LA B - S9(E) - AISAY - BES of v e HIDE2
O3=2 E=1= 150,000 4 & »23] 1,200
14 DBt 2 a3 50,000 50,000 0
OZ2g HgES A=t
1,0002%10,0005 10,000
O NG olleteial EEH
5,000& *8,0005 40,000
Sechd YA 49,820 49,820 0
201 er23| 29,820 29,820
01 At2t2ltl 10,700 10,700
OgH oty & 4=t 80,0003 #2500 A 2,000
O%soRhs BEXE 224 2B 79
2,500,0002 %14 2,500
OXNSAEA =8 50,0002 4CH 200
OFAMLSHAl JIER
3,000 +2,000% 6,000
2 s5=34l 19,120 19,120 0
OXS A 100,000 +4CH 400
Od=xt BMNERY=S
90,0003 4 LH 23] 720
OXsxt 282 500,000 ~4CH 2,000
OXEdIl & Al 8l 84
500,000 =4CH 2,000
OJtsgentz +4 L RF0
3,000,000 *4CH 12,000
OJt=goAdA 2R SiHE |A - 2
= 2,000,000& *14] 2,000
206 M=l 20,000 20,000
01 MHZH| 20,000 20,000
OAHII=TFYE Mel(MelMz, 45, Hal
s) 20,000,000& * 14 20,000
THS oAl XA 174,960 174,960 0
402 2I2F X201 & 174,960 174,960
03 2IZ+2AEAIHHI 174,960 174,960
OF MY ogeal X3 (x, SHXl)
174,960,000 * 14! 174,960
SYHFOYA 2EAE 46,300 2,800 43,500
201 er2 3| 2,500 1,000 1,500
01 At2teltl 2,500 1,000 1,500
OS2I+ 2g2e]
1,000,0002 %14 1,000
OBEYAROIN ZA HHALE 248
E=hell 1,500,000 %14 1,500
202 04| 1,800 1,800
01 =LHOLI 1,800 1,800




SIS HE SN BN
FYFNBYEY L
o2 etEEe e EER=E)
LA B - S9(E) - AISAY - BES of v e HIDE2
SEETEEE eI
1,800,000 %14 1,800
406 J|EHAH=01H 42,000 0 42,000
01 JIetAt=01d 42,000 0 42,000
OSSLYA=fAL A Stz
42,000,000& *14] 42,000
&0t =218lE AtY 22,200 22,200 0
206 M=Hl 18,000 18,000
01 MHZH| 18,000 18,000
O=2dg 457
18,000,000 * 14| 18,000
301 EtE N = 4,200 4,200
14 JIEt 2 a3 4,200 4,200
O=3dlz SA s+2AA 224
140,000 x 1522 H 4,200
=dge =8 238 4,000 4,000 0
202 04| 4,000 4,000
01 =LHOLI 4,000 4,000
OJlEYe e ZF0i|
20,0003 38 *502] 3,000
OIIEYHBH AL (T2E) oY
20,0003 x 18 +503] 1,000
SSENE =29 155,135 158,040 A2,905
Il 77,567
= 15,514
Al 62,054
402 2I2FX+=01 & 185,135 188,040 22,905
Il 77,567
= 16,514
Al 62,054
03 2IZHRAETAIHHI 185,135 168,040 A2,906
OssgHH=E 155,135,000 *14] 185,135
J| 77,567
< 15,514
Al 62,054
SgESid(gas S ) 478,541 481,782 A3, 241
Jl 268,131
< 48,524
Al 161,886
206 M=Hl 290,143 287,619 2,524
Jl 177,804
=S 25,219
Al 87,120
01 M=8l 290,143 287,619 2,524




A= sYI|IsUH A =L
B HBEAAB U
s FatE oY 2| EER=E)
4224 - HE - B9I(EH) - AIRAY - B of v e HIDE2
OJt=gs(24) 235,143,000 x14] 235,143
Jl 150,304
== 16,969
Al 67,870
ONBASAE EHEL SHE ASOHE
U Yoi2E S 1o
55,000,000& » 14 55,000
Jl 27,500
< 8,250
Al 19,250
301 EtE NS 79,464 63,655 15,809
Jl 35,860
== 9,912
Al 33,692
14 JIEt2d = 79,464 63,655 15,809
OFLAEELIE PSStz X3
9,900 *300CH* 1270 2 +50% 17,820
Il 8,910
== 2,673
Al 6,237
OF4ZAIE (S S2D| Al dESSH
| 7= 60,0002 *100CH 6,000
Jl 3,000
S 900
Al 2,100
O4 E=4ctE & Z3Y MHE|
15,0002 *2,5005 37,500
Jl 11,250
[ 5,250
Al 21,000
OOt SESZAE 01710 A x|
00& *30, 2405 18,144
) 12,700
< 1,089
Al 4,35
307 elztol & 108,934 115,508 26,574
Jl 54,467
< 13,393
Al 41,074
02 LB HAHE L 58,934 65,508 6,574
OMDHAIX 2 58,934,000 *100% 58,934
Jl 29,467
== 5,893
Al 23,574
05 21t =2 50,000 50,000 0




SIS HE SN BN
HESNMZMSA 2
o2 etEEe e EER=E)
224 3. B(3H) - ASAY - BAS 0 &y e HIRS2
O0lsSM=2 AE SIEH|
50,000,000 14! 50,000
J| 25,000
= 7,500
Al 17,500
2HS S XA 257,076 323,749 66,673
J| 155,471
= 25,471
Al 76,134
206 MHE4| 30,626 63,749 A33,123
J| 19,556
T 2,214
Al 8,856
01 MEHl 30,626 63,749 A33,123
OA PN o 1,700& +7,0005 11,900
J| 8,330
& 714
Al 2,856
OHX #H<A 1,700& *5005 850
J| 595
& 51
Al 204
Ooga 2H4 1,700& x4 ,5005 7,650
J| 5,355
& 459
Al 1,836
OTHY BAIEE AEHASAGA
330& *30,0005 9,900
J| 4,950
= 990
Al 3,960
OxXE22 326,000 * 14 326
J| 326
301 EtEXZ 108,000 102,000 6,000
J| 53,000
& 16,150
Al 38,850
14 JIEtE A3 108,000 102,000 6,000
O MG |
6,000& *8,0005 48,000
J| 24,000
& 7,200
Al 16,800




2| =HIE A 0 sS4
HEAABA U
AHE oHER S 2te| EER=E)
CRA - FB . O9(B) - NRAY - BAS ol b e HlmS2
Ogx A HARE Al=t]
11,0002 *5,0005 55,000
| 27,500
= 8,250
Al 19,250
O4 THS H2H(HYs)
10,0002 *5005 5,000
J| 1,500
= 700
Al 2,800
402 IZERH=0IN 118,450 158,000 239,550
J| 82,915
= 7,107
Al 28,428
03 QI+ ErAA I 118,450 158,000 39,550
OA FHY HA(MYs)
1,900 & *11,0005*50% 10,450
| 7,315
= 627
Al 2,508
OHX AHS HA(NMD =)
1,8002 * 120, 0005 *50% 108,000
J| 75,600
= 6,480
Al 25,920
SHGY 949 2X IH 4,829 94,829 0
& 24,849
Al 69,980
101 eI H| 94,829 94,829 0
T 24,849
Al 69,980
M IIRHMZ2Z2XSE+ A,829 A,829 0
OMErYY wol Px2 X
2,070,725 +4B 1000 & 82,829
= 24,849
Al 57,980
OJsdgY SAS X BEE J|22(Al
HIZ=D1) 3,000,000 x4 12,000
H=2aa 625,000 250,000 375,000
| 500,000
& 62,500
Al 62,500
301 LPENSZ 625,000 250,000 375,000
J| 500,000
= 62,500




= SYI|=HH 2 0 =AM
M HESAGHH 25
R A4S orNg 2t CHe M)
Al = 5 ol (= = dEcE =
A 2A - B . () - HIRAIY - BES (1;| Palgely Ol Akt Hlwsz2
Al 62,500
14 J|EtE A2 625,000 250,000 375,000
OatxezEaz X
2,500,000& 2505 625,000
| 500,000
& 62,500
Al 62,500
I=ERE K& 4,000 15,600 A11,600
& 1,200
Al 2,800
301 LetENZ 4,000 15,600 A11,600
[ 1,200
Al 2,800
14 JIEtE A2 4,000 15,600 211,600
OJ=dlg & HgdEs M=
80, 000 & *1005=*50% 4,000
& 1,200
Al 2,800
A HMPSIH 7MY ESAl=H| K& 24,000 24,000 0
& 7,200
Al 16,800
301 LetENZ 24,000 24,000 0
[ 7,200
Al 16,800
14 J|EI2 42 24,000 24,000 0
OZx2A S B3 Alstl X
6,000 *4,0005 24,000
& 7,200
Al 16,800
SO HABHEASAIE 22 15,000 15,000
201 B2 AL 15,000 15,000
01 A=R2teld| 5,000 5,000
OHEASAIE X & Y
2,000,000& * 14| 2,000
ONELSAE 221 E2S4lI
200,000& = 120H& 2,400
OHEASAIE AIRES 8 7Y
100,000 & *63| 600
02 S=29| 10,000 10,000 0
OHEASAIE 2YH|
10,000,000 * 14! 10,000
HE SH, XHES Al 28 K& 196,000 146,500 49,500
& 58,800
Al 137,200
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A= SYI|=HE SA e
3 FF=MFYE 23
Rl FAE oHEyS 2| EER=E)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH SEE Hnz=2
Smo AR e T == B Ofl &k ==
| Al 28,000
=2 =& A& 48,000 48,000 0
& 14,400
Al 33,600
301 LEEN S 48,000 48,000 0
[ 14,400
Al 33,600
14 JIEt2 8= 48,000 48,000 0
O3=2lAl =& XI&
1,000,000& x4 = 1200 & 48,000
< 14,400
Al 33,600
=2 AFSIH HASZH XS 13,000 14,000 21,000
< 3,900
Al 9,100
206 MH=HI 13,000 14,000 21,000
[ 3,900
Al 9,100
01 THZHI 13,000 14,000 A1,000
O=g HAsSZM X2
10,0002 *1,300= 13,000
< 3,900
Al 9,100
Azt 282 N3 4,070 4,070 0
< 1,221
Al 2,849
206 =4I 4,070 4,070 0
[ 1,221
Al 2,849
01 THZ=HI 4,070 4,070 0
OS0HN A1 ol AHINE 7Y
21,0003 405 840
< 252
Al 588
OS0HA At HASZH K&
11,5002 *805 920
< 276
Al 644
O F2E olgHa X
23,1002 1005 2,310
< 693
Al 1,617
=28 HgAAE 2= 500 500 0
< 150




A= sYIIsdH A 0 sS4
M FESFAFHEA L3t
Rl FAE oHEyS 2| EER=E)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
SErTArSRt T == B Ofl r =e
Al 350
206 M= 4l 500 500 0
= 150
Al 350
01 =4I 500 500 0
o 2229 HAXA
10& 50,000 500
T 150
Al 350
SI=E olget K& 73,400 128,400 255,000
& 22,020
Al 51,380
206 M= 4l 73,400 128,400 255,000
= 22,020
Al 51,380
01 M=l 73,400 128,400 255,000
OHXNSEJ18Al X2
3,000& 14,6005 43,800
T 13,140
Al 30,660
OUXNMAD|ISEI I SEZHA X&
2,000&+14,8005 29,600
& 8,880
Al 20,720
St XHEEE A=SAIE - JH| K& 3,480 2,500 980
& 1,050
Al 2,430
402 BI2HR=0l M 3,480 2,500 980
& 1,050
Al 2,430
02 QIR AL B X (01 & THEA) 3,480 2,500 980
OXESY NH - A=AIE KIF
5,000,000 * 141 x50% 2,500
& 750
Al 1,750
Oolsa sE&227 N&
700,000 *2CH*70% 980
T 300
Al 680
L=sI ASF g z2te| XA 10,000 10,000 0
& 3,000
Al 7,000
402 QIZ2ERHE0I & 10,000 10,000 0
& 3,000




A= sYIIsdH A 0 sS4
M FESFAFHEA L3t
Rl FAE oHEyS 2| EER=E)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
SErTArSRt T == B Ofl r =e
Al 7,000
02 QIZEXHE A B X (01 &THE) 10,000 10,000 0
OOIZ2IIIHRIEE 8HEAANE S XN&
10,000, 0002 *20H 2 %50% 10,000
= 3,000
Al 7,000
OA2 g X A 28,920 0 28,920
| 14,460
= 4,338
Al 10,122
301 LBBNZ 28,920 0 28,920
| 14,460
& 4,338
Al 10,122
14 JIEt2 43 28,920 0 28,920
OZI ARl BHAEE Al
6,000& *4,8205 28,920
| 14,460
& 4,338
Al 10,122
IIEYAUSKJ(ZYEYIE Xd) 100,000 0 100,000
| 45,600
& 16,320
Al 38,080
401 Al&HIZ 20| 100,000 0 100,000
| 45,600
& 16,320
Al 38,080
01 Al&Hl 100,000 0 100,000
ONELSAIE cl22E
100,000,000 14! 100,000
| 45,600
& 16,320
Al 38,080
IIEEEE HE Al=tl X 18,000 0 18,000
= 5,400
Al 12,600
301 LEBEF 18,000 0 18,000
= 5,400
Al 12,600
14 JIEt2 43 18,000 0 18,000
OBE - NZHFH| K&
15,000&*1,2005 18,000
& 5,400




sZI|=dH SN Fa
MBS L5t
o2 etEEe e EER=E)
= - 24 -3 - o9 (3) - AR - BY Off &4 ag% HusZ
| Al 12,600
SIAZI RAHS AEYH A 2AHM XH 2,013 0 2,013
S 604
Al 1,409
206 MH=H| 2,013 0 2,013
[ 604
Al 1,409
01 THZHI 2,013 0 2,013
OUWAEE AEYA 23HH X
3302+6, 1005 2,013
= 604
Al 1,409
grqolmet 4x1 K& 1,000 0 1,000
Jl 500
== 150
Al 350
402 QI2EXH=20IH 1,000 0 1,000
Il 500
= 150
Al 350
02 QIZEN 2 AL EZ(0IETHR) 1,000 0 1,000
OggAle & 3l X2
1,000,000 100 2 1,000
Il 500
< 150
Al 350
ttsOF BEerd 1,357,666 1,945,8%4 A\588,228
Il 227,490
= 118,780
Al 1,011,3%
SAMAIE SZHE XA 80,000 80,000
402 QI>F X201 & 80,000 80,000
01 QI X2 AL E A (KEHITHR) 80,000 80,000
OXtss SMAIE & IJITH S A
5,000,000 «327H A #50% 80,000
ANs8 SAAIE &g 30,000 30,000 0
S 9,000
Al 21,000
402 SI2ERH=201 S 30,000 30,000 0
[ 9,000
Al 21,000
02 QI X2 AL EE (01X THE) 30,000 30,000 0
OXsE(Ms3) SAAE X
60,000, 000& #50% 30,000




s)|=HH 2 0 =A)
FYRNBYEY Lt
SohsI g9 (SH9 H2)
T RA - BB O9(E0) - HRAY - BAS of v e HIDE2
< 9,000
Al 21,000
SHaaty 2oty NH 11,900 13,240 A1,340
= 3,570
Al 8,330
307 gl2to| & 11,900 13,240 1,340
=S 3,570
Al 8,330
02 QB HANEER 11,900 13,240 1,340
Olsy ZAZN X2
40, 0002 *3005+50% 6,000
< 1,800
Al 4,200
OSE - Al X1
35,0002 *B0S*50f% 1,400
= 420
Al 980
OMAMIZZAH X2
10, 000 *300kg*50% 4,500
< 1,350
Al 3,180
HsdE X AL 8,400 8,400 0
307 elztol & 8,400 8,400
02 2IZHBYAIHE & 8,400 8,400
Ouss #Ha IH X
40, 0002 *4205*50% 8,400
8H(F) - R ME=IH 27| X2 225,000 250,000 25,000
402 2I2FXH=201H 225,000 250,000 A\25,000
03 2IZHAAETALHHI 225,000 250,000 225,000
OA AFFsIt AlZ2EHl S X2
15,000 *60, 0001 *25% 225,000
SAMRAEMNY MESHI K- 16,000 16,000 0
201 er23| 3,000 3,000
01 At2teltl 3,000 3,000
OB, E2=2 AH & 28 =28 S +
e 3,000,002 14 3,000
206 M=l 13,000 13,000
01 M=4l 13,000 13,000
OZAE & JtsAd 2] =235 S 72
13,000,000 * 14! 13,000
S4sIE JEEAY 2| 3,000 3,000 0
202 04l 3,000 3,000
01 2LHoIH 3,000 3,000




A= sYIIsdH M ¢ =40
M FE=NMFHH A5t
Shel: SebksIF ZFery (SH9 H2)
42 RA - ZB . G9(3D) - HRAMY - BYS Ol & A HlmE2t
O=4tsIt JEy PRFEEH|
20,0002 +3Z *503] 3,000
LEE MREEESAE) 32 KA 160,000 160,000
402 QIZERHE0| M 160,000 160,000
03 QIZtIEFARRHI 160,000 160,000
OMWRAtZ ¥ JZ F2Hl X
10,000 & *80, 000 *20% 160,000
EMESE =N L 278,250 304,750 126,500
J| 166,950
= 22,260
Al 89,040
301 LRENZF 278,250 304,750 226,500
2l 166,950
(o= 22,260
Al 89,040
14 J|EI2 43 278,250 304,750 N26,500
OR42Ka4 X2
530&*2, 100 250 278,250
2l 166,950
< 22,260
Al 89,040
L2201 MAY 19,080 17,280 1,800
2l 9,540
< 1,908
Al 7,632
402 QIZERHE0| N 19,080 17,280 1,800
2l 9,540
= 1,908
Al 7,632
03 QI2HRIEF AL ] 19,080 17,280 1,800
O4 HESRG|(01¥2e]) X
10,6002 1,800 19,080
] 9,540
[ 1,908
Al 7,632
FosIt &0 KA 15,720 15,720 0
< 4,716
Al 11,004
307 QI2+01™ 15,720 15,720 0
o= 4,716
Al 11,004
02 QIZHLAIHE L 15,720 15,720 0
Osd=sIF E<01 o1& XA
2,620,000 1B 1200 2 +50% 15,720




A= sYIIsdH A B4
M HESMFHY Lt
Cel: SasIE et (SH9 H2)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
SErTArSRt T == B Ofl r =e
< 4,716
Al 11,004
SMSHIE AL HLE KA 4,000 2,000 2,000
& 1,200
Al 2,800
402 QI2ERHE0I & 4,000 2,000 2,000
= 1,200
Al 2,800
02 QIZEXHE AL 2 (01 &THE) 4,000 2,000 2,000
OFKSTS A MK K&
4,000,000 *2IH 2= %50% 4,000
= 1,200
Al 2,800
S4E Aldzel XA 10,500 10,500
402 QIZ2HRHE0IH 10,500 10,500
01 QI RH2AIE 2R (RAMITHE) 10,500 10,500
Osdt= Ad2e| I K&
21,000,000 *50% 10,500
SosIt & AHE HACCP XI# 12,800 10,000 2,800
= 3,735
Al 9,065
307 QIztol ™ 2,800 0 2,800
& 840
Al 1,960
02 QIZHALAIHE XL 2,800 0 2,800
OSASAAT HACP 2148 KNI~
2,000, 0002 *20H 2+ 70% 2,800
& 840
Al 1,960
402 QIZERHE01 & 10,000 10,000 0
= 2,8%
Al 7,105
02 QIZEXHE AL 2 (01 & THE) 10,000 10,000 0
OFASEAE HACCP A4 - BHl S I
20,000,000 *17H A= +50% 10,000
= 2,8%
Al 7,105
ZRER SEEHE IXl M 65,436 70,000 4,564
= 19,631
Al 45,805
307 212t01& 65,436 70,000 A4,564
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OsgIIH !E25H XN2AMSE
20,000,000& * 14! 20,000
SYIIA R3H K& 302,000 302,000
201 L2 H| 2,000 2,000
01 AtS2teltl 2,000 2,000
O=s2IH U= 24 HI&
500& *4,0000H 2,000
301 L2 Z 300,000 300,000
14 J|EI2 &S 300,000 300,000
O=sgIH Edl 234 X2
300,000,000 *14 300,000
S HHEAR(SIIHEHAY) 12,000 21,000 A9,000
= 6,000
= 1,800
Al 4,200
201 ZEt2 & 12,000 18,900 26,900
= 6,000
= 1,800
Al 4,200
01 AFS2t2ltl 12,000 15,000 23,000




AR se|aME SN REXADL
M sgUNE=EH
el s EER=E)
A2 .24 ZE . S2(E) - NIRAY - BES ol b e HlmS2
OsIH AHEAIE WS WIS
30,0003 *400A 12,000
= 6,000
= 1,800
Al 4,200
s2IH nesd 2SN 10,000 10,000 0
& 3,000
Al 7,000
201 Lt | 8,000 9,000 A1,000
& 2,400
Al 5,600
02 S=29| 8,000 0 8,000
Ou=xg sYI|H A2
8,000,000& » 14! 8,000
= 2,400
Al 5,600
202 o4t 1,000 1,000 0
& 300
Al 700
01 =04l 1,000 1,000 0
Qus=d ¢yl 1,000,000 14! 1,000
& 300
Al 700
301 LB NZ 1,000 0 1,000
= 300
Al 700
11 HALAHIXIEZ 1,000 0 1,000
Ol nssd 23XA
2,000& *500H 1,000
& 300
Al 700
2 =I13H =2l2gHl XA 15,000 15,000 0
= 4,500
Al 10,500
201 B2 AY| 15,000 15,000 0
= 4,500
Al 10,500
01 ArR222ltl 500 1,500 21,000
OYU=IIH =el2g Let+=2H|
500,000& * 14! 500
& 150
Al 350
02 33244l 14,500 13,500 1,000




A= sg)|=dH 22X 7SX3n
M sgUNE=EH
Cel sHIA (CH9: &S1)
A2 .24 ZE . S2(E) - NIRAY - BES ol b e HlmS2
OAth=I +2/2H K&
14,500,000 14! 14,500
& 4,350
Al 10,150
9214 29 51,800 45,760 6,040
201 L2 | 46,800 45,760 1,040
01 AtR2eltl 5,600 5,400 200
Og2XA LotZH| 2,000
OMREE S 7Y 2,000,000& * 14 2,000
Ozelg| 3,600
oURXA HIIQMPRIHY £42
110,000& 128 1,320
oURX4A PUBHIAIAY 248
190,000+ 12& 2,280
2 222 41,200 40,360 840
OLEXA KT AE3IM +42
450,000 128 5,400
OgRiL &IIe3 800,000& =123 9,600
OgiE sZJIH 2=
170,000 *60CH 10,200
OERXA AL A EHl sXI&2]
400,000 *40CH 16,000
401 A& B2 20HY| 5,000 5,000
01 AlEHI 5,000 5,000
odexL 32 uAl
5,000,000& * 14! 5,000
NEX A 29 58,350 57,910 440
201 B2 AL| 58,350 57,910 440
01 ArR22lt| 5,600 5,400 200
OMEX A Lot H| 2,000
OMREE S 7Y 2,000,000& * 14 2,000
Ozels4| 3,600
o MEXA MI|etE e HE =2
10,0003 12& 1,320
o MR ROIZHIAIAE 22
190,000& x 123 2,280
02 324l 52,750 52,510 240
OMNMEX A KT #8836 =2
450,000 12 5,400
ONMEXA MIIRZB 800,000& =123 9,600
Ou=sg s8I *:4|
1,850&*1,0002IH 1,850
oYt s8I 282
170,000& *70CH 11,900
OMEXIZ AlE I . ()&l Sl
400,0002 *60CH 24,000




A= =YI|=HEH 2N SSX3A
M Y=Y
&l s (SH9 H2)
AT SN FE . B(BH) - HSAY - B ofl vy aET HD=2
d=-FA-85%-8 o 8= = ofl &b s2
SHKNA 2H 43,400 35,160 8,240
201 LBt AH| 43,400 35,160 8,240
01 AFR22t2lHl 5,600 5,600 0
O=2H KA Let==2Y| 2,000
OAMNEES S F¢E 2,000,000 & *1A 2,000
Ozl 29| 3,600
oZH XA MI|OHM2UL|IHEY =42
110,000 x 12& 1,320
oS H KA ROIBLIAAE =22
190,000& x 128 2,280
02 Bs24H| 37,800 29,560 8,240
O=HKX AN KT MEJH =2
450,000& x 128 5,400
O=2AHX A &2 800,000& 128 9,600
Ol sYJ|H 282
170,000 *40CH 6,800
OSAHX AN AL JIH &Yl X2l
400,000 *40CH 16,000
AUAIE A &= =S WA 100,000 0 100,000
405 KA SHI 100,000 100,000
01 AL 2 EF S| 100,000 100,000
OLUHAIE A =5 SSHIAH DA
100,000,000 * 14| 100,000
S=EXED|BHERA A (ZH]) 379,000 0 379,000
& 189,500
Al 189,500
405 KHaHESH| 379,000 0 379,000
= 189,500
Al 189,500
01 ML =2 EFSH| 379,000 0 379,000
SSHI|HLUNAIE DREH 2SKE
2! 165,500, 0002 *2CH 331,000
= 165,500
Al 165,500
ONEE sAHI|AH 2el&H] RU(EED])
12,000, 000& *4CH 48,000
& 24,000
Al 24,000
L= sS€IIH OIMSHX H2 K& 22,800 0 22,800
= 11,400
& 3,420
Al 7,980
301 LEtEX 2 22,800 0 22,800
= 11,400
& 3,420
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M sgUNE=EH
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A2 .24 ZE . S2(E) - NIRAY - BES ol b e HlmS2
Al 7,980
14 JIEI2 43 22,800 0 22,800
O=% SIIH 0IMSX H2ANE
7,600,000 *3CH 22,800
= 11,400
& 3,420
Al 7,980
ZHIEC SAXR JIg3=F 7,689,114 7,227,962 461,152
= 136,000
= 3,661,607
Al 3,891,507
3324 2XE 7,343,914 7,086,402 257,512
= 3,632,207
Al 3,711,707
Zed stngal XA 6,361,746 6,133,058 228,688
& 3,180,873
Al 3,180,873
308 AHXIHM SO & 6,361,746 6,133,058 228,688
& 3,180,873
Al 3,180,873
08 WEI|Z0CHEtE = 6,361,746 6,133,058 228,688
OB WA N (AZH)
6,361,746,000& *100% 6,361,746
& 3,180,873
Al 3,180,873
e (2) satg gugsl KA 982,168 953,344 28,824
= 451,334
Al 530,834
308 AHXIHM SO & 982,168 953,344 28,824
& 451,334
Al 530,834
08 WFI| 202 x 982,168 953,344 28,824
Ozl (=) ATHEHl XI&
902,668, 000& *100% 902,668
= 451,334
Al 451,334
Orletgd(2=) A=Yl X2 (AEIFEI
79,500,000& *100% 79,500
SZEE FHAH 62,200 61,000 1,200
& 2,200
Al 60,000
St S A AL 3,400 3,400 0
& 1,000
Al 2,400




all= A =SXEL

=
2IC AR DRSS
ZIEC S8XE (SH9 H2)
LR BB S(B) - NRAY - BAS 0 &y e HIRS2
307 QI2t01 A 3,400 3,400 0
& 1,000
Al 2,400
02 QIZHEAAMHE R 3,400 3,400 0
Osi=2 &g A AL 4,000,000 x85% 3,400
& 1,000
Al 2,400
AlME s 29X 30,000 30,000 0
307 QIZt0I™ 30,000 30,000
02 QIZHEAAMHE R 30,000 30,000
OAMENS 2K/
30,000,000 *100% 30,000
ZHIC 245 29I 4,000 4,000 0
& 1,200
Al 2,800
307 CIZ2t0IA 4,000 4,000 0
& 1,200
Al 2,800
2 QIZHEAMANSEEX 4,000 4,000 0
OzZZEC 2435 2K
8,000, 000& *50% 4,000
= 1,200
Al 2,800
ZELS AZF=X Y| 4,800 3,600 1,200
202 0441 4,800 3,600 1,200
01 ZLHOHI 4,800 3,600 1,200
O=2ZEE JAR=E Y|
20,0002 x3H *803] 4,800
AEAN sttE2 2 S6IIEE USKA 10,000 10,000 0
201 Let23H| 10,000 10,000
01 At2teldl 10,000 10,000
OQHEA 2AF 9Z|B 242
10,000,000 * 14 10,000
SHEIC AFHI SHXA 10,000 0 10,000
402 QI2HXHE0I ™ 10,000 0 10,000
01 QI EAIE B (XHHITHE) 10,000 0 10,000
OzZELE &3 4
20,000,000 *50% 10,000
KNS Ael X 2= 283,000 80,560 202,440
= 136,000
& 27,200
Al 119,800
£ 2ZEC ZHH 29 11,000 1,000 10,000
201 LEt2AH| 11,000 1,000 10,000




A= sYIIsdH PN RSXEL
M ZZEE GAXE JIE=S
Rl XEH el Ao A= EER=E)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
SErTArSRt T == B Ofl r =e
01 ArR2eltl 7,000 1,000 6,000
OZZEE ZEH 23233 =%
100,000& *141%102] 1,000
OZZEE SEIH 2248 28 72 S
4,000,000& * 14! 4,000
OZHIEC ZaHIH dAadel 9 S
2,000,000 14! 2,000
02 E324H| 4,000 0 4,000
OZZEE ZEIH AMdKRI2al
4,000,000 14 4,000
SAZ HIRX KJAE 272,000 0 272,000
= 136,000
& 27,200
Al 108,800
101 el t| 15,100 0 15,100
= 7,550
& 1,510
Al 6,040
M IIZtH22 S8 15,100 0 15,100
OsAlE HRH 12| 15,100
os=AlE HIRKN HREXR B+
90,4003 *30 2 *5IH & 13,560
= 6,780
& 1,356
Al 5,424
ozAlF HIRAN ZREXR BEE
13,560,000 *11.35% 1,540
= 770
& 154
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201 Ler2 | 8,900 0 8,900
= 4,450
& 890
Al 3,560
01 AtR2telt] 8,900 0 8,900
OXN<g8as 29 s
4,000,000& 14 4,000
= 2,000
& 400
Al 1,600
OsE= M&E & 225 ¢
4,900,000& * 14! 4,900
= 2,450
& 490
Al 1,960
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A= sYI|=HE 2A SRS
M ASEsHES ZHHYG
Hel: stteRsSEds (SH9 H2)
A= 24 - 3 SR(3) - NIRAY - BES Off &K %E% HusZ
= 3,000
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Al 2,100
301 EtE2E = 6,000 0 6,000
= 3,000
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Al 2,100
14 J|EtE 4 S 6,000 0 6,000
OGAPRIZS =D A A XIR
6,000,000 * 14! 6,000
= 3,000
== 900
Al 2,100
LEsHE &ot =2 XHE 70,000 60,000 10,000
301 Et2E = 70,000 60,000 10,000
14 J|EtE2 8 S 70,000 60,000 10,000
Os=sttg &0t =2 X
70,000,000& 14 70,000
2AESAE TIAIE AdES& 470,000 307,000 163,000
401 AIEHIZL 2 0HY| 470,000 307,000 163,000
01 Al&HI 470,000 307,000 163,000
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470,000,0002 *14] 470,000
sS4E B2 A 8,000 8,000 0
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s 9,375
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S 9,375
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OMIIRE M2MEAL XA
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(= 9,375
Al 21,875
EFI1| 33018 XN 77,547 0 77,547
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SPIERIE 2 1 JlER3D
MSSEEA MII=E=S
SEE r A 2 HA)
SH BB GRS - HIRAE - BAS ie Bl EY
Onlzg =% & ZHIsX4l
1,000,000 14! 1,000
203 PR =&IH| 1,680 1,680
REE S EEES 1,680 1,680
OlsEE AHeE
1,680,000 14 1,680
206 =4l 20,500 20,500
01 M=l 20,500 20,500
ouzg2g M= 1,500,000 * 14 1,500
OBZHDENE 29
9,000,000 *1JH 2 9,000
OZREE3 WBHX
10,000,000 * 10 2 10,000
301 LBBNZ 1,500 1,500
11 HALAHIXIEZ 1,500 1,500
OMZRES0} S0
100,000& *15H 1,500
SN MMIHS JIsst 32,000 36,900 24,900
206 =4l 32,000 32,000 0
01 =l 32,000 32,000 0
OB PBEI HEX
32,000,000& *14! 32,000
s HEZ. A 29 32,000 30,000 2,000
= 5,100
Al 26,900
101 @124t 32,000 30,000 2,000
= 5,100
Al 26,900
M IItHZ2E2SEs 32,000 30,000 2,000
O=sX2 golis oz Q14| 17,000
=JllE2g 96,8002 1133 12,875
= 3,863
Al 9,012
oFgg 96,8003 * 1220 1,936
= 581
Al 1,355
oIt 96,8003 x1H x4 383
= 116
Al 272
cAUEE =S 15,190,0002 *11.85% 1,801
= 540
Al 1,261
O=%2 dollE tZE 2 2IA8I(
AlBIZ=DH) 15,000




A= sYIIsdH FAJIsEs
I SISy MisEs
Pl AIZFRIZ OLF MAL (69 =)
424 - ZH - O9(E) - MRAY - BES ofl & A HDS
=JlEa 96,8002 *1H*1202 11,616
oxgrd 96,8002 * 1816 1,549
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Al 4,830
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01 MZH| 6,900 6,900 0
si= dolls 22X 29
6,900,000& *14] 6,900
= 2,070
Al 4,830
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Al 32,500
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OH it &etd 45 Jls o A
130,000,000 50k 65,000
= 32,500
Al 32,500
g5 MES 25 16,000 16,000 0
402 2IZE=201A 16,000 16,000
01 QIZtXH2 AL 2R (KM TH ) 16,000 16,000
O+ MUES B2
20,000, 0002 80% 16,000
NEsd AUES A 22 28,000 0 28,000
402 QIZtA=01A 28,000 28,000
01 QI X2 AL E X (KEHTHE) 28,000 28,000
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< 16,000
Al 40,000
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pJ 9,670
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202 Ot 4,000 0 4,000
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5,000,000 * 14 5,000
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01 =4l 6,000 5,000 1,000
OAleF & =X= 6,000,000& *14] 6,000
406 IHaHR St 3,000 3,000
01 ML ESFSHI 3,000 3,000
OFAJl, 431 S 2E=3
3,000,000 %14 3,000
SEE3Y 2Y 27,380 20,000 7,380
= 5,500
Al 21,880
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= 5,500
Al 21,880
M IIRIMZZENSES 27,380 20,000 7,380
Osezdd 29 Ay 22,000
=Jlga 96,8002+ 1& * 165 15,972
= 3,993
Al 11,979
oFFY 96,8002+ 18 x32& 3.098
= 775
Al 2,323
oAt 96,8002 17 678
= 169
Al 509
CUELHESRES
19,747, 2002 18 *11.4% 2,252
= 563
Al 1,689
Ozedd4d 29 AAHI(AIHIFI 5,380
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a3 sYII=dd P ==;
M SMESSHSY MI=Es
el sd=g38lIs2s EEREE)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH SEE Hnz=2
Smo AR e T == B Ofl &k ==
OMEZHl 100,000
olld=E Y M= -
100,000,000 * 14! 100,000
=3 29 135,481 126,123 9,358
101 e124d| 80,481 79,123 1,358
04 JIRHNZZ2XSE+ 80,481 79,123 1,358
Ozgsd 2 1A 80,481
ST 96,8003 322002 58,080
oxmag 96,800 »3& x40 11,616
SRLPNESS, 96,8003 +3&H+9! 2,614
CUNEMMNEERES
72,309,600 *11.3% 8,171
201 L2 10,000 13,000 23,000
01 AtR2te|b] 5,000 4,000 1,000
OAr2:2telt] 5,000
cuFEHE, =3, 1=
5,000,000 * 14 5,000
02 324l 5,000 9,000 24,000
OAld ZHIRX, 2+, |4l
500,000 *10= 5,000
206 M=4l 10,000 10,000
01 M=4l 10,000 10,000
Ol 10,000
oAAAS ASAIE & AEE 2
10,000,000 x 14! 10,000
401 AIEHIZL 2 THYI 35,000 24,000 11,000
01 AlZHI 35,000 24,000 11,000
oAUl A4 &X
30,000,000& *14] 30,000
ofgtsd A4 =2 & E
5,000,000& «14! 5,000
AU LA 2 18,000 0 18,000
= 4,500
Al 13,500
201 =3 13,000 0 13,000
= 3,250
Al 9,750
01 AtR2telbl 5,000 0 5,000
OXZtfeta o =35t=2s 2HES S
5,000,000 = 14! 5,000
= 1,250
Al 3,750
02 2324l 8,000 0 8,000
O & =324 2l =8 &
8,000,000 * 14 8,000
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= 2,000
Al 6,000
206 M=l 5,000 0 5,000
= 1,250
Al 3,750
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= 1,250
Al 3,750
HH2IZHI(OIsE=2) 57,900 91,010 A33,110
Jl=Zhl 57,900 91,010 233,110
JlE2&l 57,900 91,010 233,110
201 Ler2 | 42,700 47,130 A4,430
01 At 22|l 21,600 17,480 4,120
OAtR2eld] 21,600
cHTIANRES 9,000,000 14! 9,000
=25 ¥ &l gxz
1,800,000 *14! 1,800
ol|l2gdRsadigaldl
9,000& x 1580 10,800
02 23244l 21,100 29,650 28,550
O3=23| 21,100
oA4d &l RXHl S
4,000,000 14! 4,000
SPNE= I IN]: ] 600,000 x2CH+ 12 14,400
o KtS XAl 300,000 *2CH 600
ocEAMERLS 200,000 *2CH 400
o828z 850, 000& +2CH 1,700
202 o4t 9,000 39,680 230,680
01 =B 9,000 39,680 30,680
OJ|2g2=& ¢t 600,0002x15Y 9,000
203 R =& 4,200 4,200
M FA2LHIFAHI 4,200 4,200
ORNSIHRFA 350,000& 123 4,200
405 KHHE SH| 2,000 2,000
01 XL ESH =S| 2,000 2,000
OLE=3aRH 7 2,000,000 14 2,000




